ASSEMBLY INSTRUCTIONS




1 PC

4 PCS

()@ | 4 pcs
M6x55 mm
: 8 PCS
M4x20 mm
© 4 PCS
@6.5x10x2 mm
4 PCS
@6.5x16x2 mm
% 1 PC
Clé Allen M4x80
‘EI'I'_ 1 PC

2/14




00

ol

x4

3/14




4/14




1 PC

1 PC

4 PCS

1 PC

1 PC

1 PC

= | g pcs
M6X55 mm
8 PCS
M4x20 mm
O 8 PCS
@6.5x10x2 mm
8 PCS
@6.5x16x2 mm
g 1 PC
Clé Allen M4x80
JE= | 1
M6x40 mm
‘EI'II 1 PC

5/14




00

OO










1 PC

1 PC

1 PC

1 PC

= | 10 pcs
M6X55 mm
M4x20 mm
O 10 PCS
@6.5x10x2 mm
10 PCS
@6.5x16x2 mm
g 1 PC
Clé Allen M4x80
JEEm | e
M6x40 mm
i .

9/14




00

98
















